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1. In how many ways can you choose a subset of the numbers 1, 2, . . . , n that do not
contain a pair of consecutive numbers? (For example: 1, 3, 5, 6, 9 does not qualify
because it contains 5 and 6.)

2. In how many ways can you make an n-digit number of 0’s and 1’s that does not contain
consecutive 1’s?

3. In how many ways can you make a list of 1’s and 2’s that add up to n?

4. In how many ways can you make a list of odd numbers that add up to n?

5. In how many ways can you make a list of numbers that are larger than 1 and add up
to n?

n Problem 1 Problem 2 Problem 3 Problem 4 Problem 5
1
2
3
4
5


